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(A) B8 J:;jm‘“kaN/ %% 5REDBED SO BRAEKN/mM) (E) HHEBHINEBZ ZRBOHED HDFAMEUN/ni) 2 IRASHRSHRANI-SIOmEEHET S Gl e
- ) mMEBZ 5K B AMEKN/ M EM3mEE R B X & T ARAEKN/m A -4 -l U SEami - =
(B) (WA SR EMI (T HBEDLEZDES(m) ) N LHREN AT S5 8 D LA S DFEEm) %ﬁ?gﬁ%ﬁ_égfﬁi‘ﬂ?t%%if_ﬁ@ mﬂ FTTE HET S KT S I%
(C) BEN=L B FA100kN/m LT O R DT EID 1 D BEATEKRN/ni) (G) HHEBAIMUT DR B OHIED HORAERN/) EAML RIS (LSRR T BRSBTS R AL
D) (ON LB EMI AT IBENTEZDEE(m) H) QN SHEEMAERTHBENDLEZFDZEm) DRBEHENCEET D LN TED,
HETHELYTAOLIEZEDHDOKRES SHEFHEND L EZDHDAEE
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(A) (B) (C) (D) (E) (F) (@) (H) (A) (B) (©) (D) (E) (F) (@) (H)
(1) - - 66.4 10 - - 9.7 1.9 - - 66.4 10 - - 9.7 1.9
( 2) - - 67.4 10 - - 9.7 1.9 - - 67.4 10 - - 9.7 1.9
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